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The maximum value of the determinant of the matrix
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If the system of simultaneous linear equations x +v+-=a.x—y+bz=
has infinitely many solutions. then 5 — 5a =

y2X+3y—z=1
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If z=x+#v. x. v € Rand if the point P in the Argand plane represents -, then the locus of

P satisfymng the condition Arg( a _;_ ) = —';5 15
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If P. Q and R are points respectively representing the complex numbers z.ze? and

in
l1+e3

in Argand plane. then the area of the triangle PQR 1s
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A(z,) and B(z,) are two points in the Argand plane. Then the locus of the complex number

- satisfying Arg{ - 1 ] =0 or . is
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The circle with A_B as a diameter
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The ellipse with A. B as extremities of the major axis.
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The straight line passing through the points A and B
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If x 1s a cube root of unity other than 1. then.
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If 3x> — 7x + 2 =0 and 152 — 11x + a = 0 have a common root and « is a positive real
number, then the sum of the roots of the equation 15x> —ax +7=01s

I —Tx+2=05000 1522 — Ilx + @ = 0 e o8 &i0d Sorodnse $dN &I
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Let o, B be the roots of the equation x> — |a|x—|b|=0 such that |o| < |B|. If |a| < f—1.then

"
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Let @(x) = — " If a, b and ¢ are the roots of the eqtmtioﬁ 3 =354 A=0 ' (A#0)
(.1" - 1)(.\'+ 1)
then @(a) ¢(b) ¢(c) =
X , - .
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In an examination hall there are “m#»’ chairs in 7 rows and # columns. The number of ways
in which m students can be seated such that no row 1s vacant 1s
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Consider the following statements:

& The number of non trivial even divisors of the number 2%13%24%5%6% is
(o +1) (0ptl) (03+1) (ogtl) (os+1)-2

II: The number of nontrivial odd divisors of the number 29 .3%2 .49 . §% %5
iS ij +a4 + CIS +aza4 -+ c1’4a'5 )
Then
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The coefficient of x° in the expansion of (x* + 2x + 3)° is

(% + 2x + 3P D$BS* x> FoY), Kow¥o
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If x is so small. that x> and higher power of x may be neglected. then the coefficient of x* in

the expansion of {/x% 4+ 4 —y/x% +9 is

it
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Leto,B.and ybesuchthat0 <o <P <y<2m Foranyxe R if
cos(x + o) + cos(x + ) + cos(x +7y) = 0. then tan (y— o) =

0<o<PB<y<2medgbinr a,f.yamchisomoe. J88 xe R 8§,

cos(x + o) + cos(x + ) + cos(x +7y) =0 ewos0d, tan (Y— o) =
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. . . : R : [ T
If ABC 1s not a right angled triangle and sm[ aq A] sm( i B) i - cosec(— — CJ

then tanAtanB+tanBtanC+tan C tan A=

T i
cosec(—— C] SBONS,

ABC oow80 |@ghz0 538, sin[%—AJSin(%—B]z

2

tanAtanB+tanBtan C+tan Ctan A=

Options :

1 cotA+cotB +cotC

tanA+tanB +tan C

13

1
tan A+ tan B+ tan C

1
cotA+cotB+cotC
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If tan-;- =cosecd —smé . then tan: ? =

0 -
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a T 37 e ;
The number of real values of x € [0.2:{]— P satisfying the equation

25i113x-3sinx+1 =9 is

|CDS X
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—Cos Ix +T 1S

. ik <}
The sum of the maximum and the minimum values of 2 (C 0s .1')
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- A - v
If 1'=logetan[—+— .then tanh| — [=

!1.
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In A ABC. if a. b. ¢ are in arithmetic progression. then cos A+ 2cos B+cos C =

AABCS® a. b, c e ©@08E&S* %08, cos A+2cosB+cosC=

Options :

collegedunia:

India’s largest Student Review Platform



12
)

l\Jl'Lul

, B+

Question Number : 27 Question Id : 1874634347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the area of triangle ABC is 5> — (¢ —a)°. then tan B=

©dzo ABC Swg) dTogo b*—(c—aYwond, tanB =
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(0%

For a non-zero real number x. 1f the points with position vectors

L(x-n)?+ﬁ+:~.ﬂt. xi +(x—v)7 +xk, .sz-l-mf-f-(x-n*)A_* and

r(x-—l)?+(x—-1]; +(x—1)k are coplanar. then

§88 TPdV0pg X 8 I(I—H)?+.\f+1‘l?. .'\‘?T+(1‘—1‘)j_'+.1‘z:. X

—

+37 +(x—w)k

50052 1(1‘—1)}'_+(:f—l)f+(.1‘—l)f: o B8O%H Voo PIIHITE Wik

¥ & 3

M ¥ W

m+v+unw =1
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If P 1s a point lying on the line passing through the pomt A(}T -7 +3k ) and parallel to the

vector .2? +j-2 k such that |E| =18 then a position vector of P 1s

Ped D089 [AP|=18 edbstrtn A(T-7+3k) o3 docsy omarsr, 27 +j -2k

VOIS dirodBor ol Spw & 08, P Doty SSEVIONE-R z?;:ﬁ STALS

Options :

1

—137 -57+9%

117 +77 15k

L2

137 =57+ 9%

137 +57 -9k
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@.b.7 are three vectors such that |E| =1, |b_ ‘ =2, |F| =3 and b -7 =0.Ifthe projection

[a]=1 [p|=2. [e|=3 o0 5.7

of b along 7 is equal to the projection of ¢ along @. then ‘25+3E -3C|=

——

0 @cﬁ&g dfom a.b.c o Hord SbFe.

—_—

7 Bowd b Bwg, IESo, a Jowd ¢ Do), IEFIE d5rSo wand, i)

'\25+35-—3?\=
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Let in be a vector of magnitude /3 and perpendicular to the vectors T+jand 7 j—k.L

7 be another vector of magnitude 2./g and perpendicular to the vectors 27 — 7 and 7 7+2k .

The area (in sq. units) of the triangle formed with 77 and 7 as sides is

+j S0das0 FF—E OO voo™ Golur, J_?_, SrHorr e el $8EH m eddomo.
—j $000dw j-{-z}? OO Lo0 G olor, 3\/3 Sovdorr o EE H¥0 7
©So800T0. . 1 OF Bok Hheredi KOAS Bheo BwE), Frogo (F.05rdRe”)

Options :
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a=i—-j+k, b=i-2j+k, F=p?+2}+qi? and I(7=p:.7+q}+21? are given
vectors. If the projection of ¢ on @ is 54/3 units and if @.b.¢ forma parallelopiped of

volume 5 cubic units. then Tan ™ (3 d ) =

35r08E Hokor D6ES, wdydd Tan™ (b-d)=

Options :
T

=
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Given @a=2i +j+k.b =7 +2j—k and a unit vector ¢ are coplanar. If T is

perpendicular to @ . then ¢ =

1
[
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The coefficient of vanation of 9. 3. 11. 5. 7 1s

9.3, 11. 5. 7 B0, foT0ES
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The mean deviation about the mean for the following data

Marks obtained : 0-10 10-20 20-30 30-40
No. of Boys 6 8 10 4
1S

Bod daroTs HPgoIn Dod Jgh oS0

ODOWD ;’mcbgfm - 0-10 10-20 20-30 30-40
erend cﬁumg : 6 8 10 4

Options :

! 9.33

7 5.6

3 8.33

4 9.6

40-50

2

40-50

2
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The probability of occurrence of an event 1s — and the probability of non-occurrence of

another event 1s liO . If these events are independent. then the probability that only one of

the two events occur is

&8 LR 20NET I8 Jogrigd

L.nllx.f

0CI DEE WLI RINEFIT IS Jogrdgd % QD

NSO DLJITE IVS* w8 DL SrBd 2HHLE Ko QoSS

L-2

b | =
!J'|.[.‘;.
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Let o be a root of x> + x + 1 = 0 and suppose that a fair die is thrown 3 times. If a. b. ¢ are
the numbers shown on the die. then the probability that a® + o? + a€ =0 is

¥ +x+1=0 308 &f Sorodn 0w, ¥ ITEE FOED 3 FH EIVTH ©d
©508%08. a.b. c e & FOED IS Sopgen wand, 0 + o’ + of = 0 IFIE Ko
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Suppose that a bag A contains 7 red and 2 black balls and another bag B contains 2 red and
n black balls. One of the two bags is selected at random and two balls are drawn from it at
a time. When it 1s known that the two balls drawn are red. if the probability that those two

balls drawn are from bag A 1s o .thenn=

7

o€ D00 Aok nAHY), 25e0d) Soks podien, $0BNE 500 BHodk 2360, 1500l
010 Roden F0d). @ Bod Jo0theods® LTI Sy sorm JNEI TR J0od Todd
2000 LBI0 AT, VS Vo VoD JBAD @ BOVIJYEH & Bok wodew Hod

A 5008 5038 DogrHgd SBONB N =

-
Options :
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L2
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A random variable X has its range {—1. 0. 1}. If its mean 1s 0.2 and P(X = 0) = 0.2. then

AX=1)=

&8 dIrdyE Joord X Bwg) aga {—1. 0. 1} d Bwg), Hdgodn 0.2 So0akn
P(X=0)=02woss, PX=1)=

Options :

. 01

0.7
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There are 800 families with four children in each family. Assuming equal chance for every
child to be a boy or a girl. the number of families expected to have children of both sexes is

58 Sotoowos’s Senibd DFes Ko 800 Sobwowren G, B8 BY o Dok BE
odde I8 DS Jogrdgd God ©isod, Df, vl o FOS Hivowre
QOPS

Options :

, 700

100

L2
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4 300
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A straight line meets the X and Y axes at the points A. B respectively. If AB = 6 units. then
the locus of the point P which divides the line segment AB such that AP:PB=2:11s

2.8 388w X. Yosgod S5 A.Be :ch podFob. AB= 6 oo wood, ABSyp
poaQ) AP:PB = 2:1 @@5&3&3{3 »od0d DoY) P 308), HodonPEmw

Options :
, 3 +yP=36
A2 + 2= 36
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If the area of the region bounded by the curves v =x? and x =17 is k. then the area of the
region bounded by the curves

s 2[\/3.\*—_1-] a 3552 :[H 5 ] .

?

pran i

y=x%0a0 x=120d Soagloddy @od Jrogo kwond,

| J3 V3 2 “"T v _[ x++3) j
5 . " — J" = j " :
_-1+ﬁ 3 =( X—3 ) %865 _=[TJ O 20280 @5\35 Frod ITeogo

- 2

- i e

2
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Question Number : 44 Question Id : 1874634364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The set of values that B can assume so that the point (0. B) should lie on or inside the
triangle having sides 3x +v+2=0.2x-3y+5=0andx+4y—-14=01s

3x+y+2=0.2x-3y+5=0500c00 x+4y—14=0 0 oo KON @dhao S
S @dhuo Do (0. B) Doked &odrdRothsn, fENEEH Jeode S8

Options :

()
P E— [r——
W | 19
 SEPSE—

Iu'[ —

12|
-

Question Number : 45 Question Id : 1874634365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If (/12./1+1).l e Z belongs to the region between the lines x + 2y — 5 = 0 and

3x—v+ 1 =0 which includes the origin. then the possible number of such pomts is:

(A%.4+1). 1 e Zedo x+2r-5=0,3x—y+ 1=03pe S5 HrodohHdo §OAEOH
PodSne' DodI8, ek wirod FPgHhdy Voo Jopg

Options :

, 4
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Question Number : 46 Question Id : 1874634366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

If the mid points of the sides BC. CA and AB of a triangle ABC. are respectively (2. 1).

(—1.-2) and (3. 3). then the equation of the side BC 1s

28 ©ghz=0 ABC &°0 dhzren BC, CA S08din AB o gy Dodoes S0dm (2. 1).

(1. =2). 558050 (3. 3) @a0d, wIyd gozo BC DalE 800

Options :
x-2v=0

1.

a3 51. T, 4.11 3 6

y 2X+3y =8B
3Ix—-2v=6

4

Question Number : 47 Question Id : 1874634367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The distance between the pair of lines 2+ 2\5 v+ 2_1~2 +4x + 4\/5.1- +1=0 18

22+ 24230+ 237 +4x + 429 +1=0 o3 S58grasnrio Sy Erdo

Options :

-
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Question Number : 48 Question Id : 1874634368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A pair of lines S = 0 together with the lines given by the equation
2 -141:1-+3_1~2 +10x+10v—25=0 form a parallelogram. If its diagonals intersect at

the point (3. 2). then the equation S=01s

S =0 o3 of 668 oMo, 812 —14xy+312 +10x+10y—25=0 &3 SDEdwo
4008 $6EEPOS’ OB w8 BIroBE SEEymom DoydKs. TR EgE0es (3. 2) 5§
DoBotHEotnod, @B’ch‘.ﬁo D80 S=0.
Options :

 6x% =9xy+y” ~25x+30y+25=0

8x* —14xv+3y" —25x+30v+50=0

o ]

8x% —14xv+3v7 —50x +50y +75=0

6x° + 14xy — 3_1'2 —30x+40y-75=0

Question Number : 49 Question Id : 1874634369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the equation of the circle having its centre in the second quadrant touches the coordinate

T O . ) )
axes and also the line o 1_" =1i1s X"+ v +2Ax-2Av+ A" =0.then A=

-

X -1l = £ o o wl . aig o S &
QErIsF oS, ;*‘1—2'—1 O3 DEFEPSr DY, Bodd FEB0S* ToER) EONS Sydo

2DoEGmo 1%+ 37 +2Ax 24y + A7 =0 wond, ey A=

Options :

{ 3
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Question Number : 50 Question Id : 1874634370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of a circle passing through the pomt (2. 8). touching the lines 4y —3v—-24=0
and 4x + 3v — 42 = 0 and having the x coordinate of its centre less than or equal to 8 1s

(2. 8) Doy Ko, 4y —3v—24=0 00050 4x + 3v—42 =0 38¥dpeo :‘aw?uiﬁ
$BB0 BwE, SR X ALrHESw 8 B wodsH S8S wowd, e 3 D880

Options :
"9 o
1 X“+yv " +2x-8vy—-8=0

92

X+ _1'2 —4x—-6y-12=0

)

; X +_1v2 +4x—-10y+4=0

.

‘ )
g X ¥y —6x—-4y-24=0

Question Number : 51 Question Id : 1874634371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The point of intersection of the common tangents drawn to the circles x2 +17 —4x—2y+1=0
7 » .
andx-+1yv —6x—4r+4=01s

P +17 A -2y +1=0%00050 ¥ +37 - 6x— 4y + 4 =0 Horoh A s SGPro
POES DoHY)

Options :

(- . ]
-‘-
l.
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Question Number : 52 Question Id : 1874634372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The circle S =0 cuts the circle ¥2 + 12 — 4x + 2y — 7 =0 orthogonally. If (2. 3) is the centre
of the circle S = 0. then 1ts radius 1s

S =03 SyB5m, 2+ —4x+2y-7=0 S)BS0o wuwé{;d}ﬁm WRod. S=0548
Boo (2. 3) wond, & FgIgo

Options :
2

] =

-2
—

[
rJJ

Question Number : 53 Question Id : 1874634373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The equation of the circle which cuts the circles

Si=x+y’-4=0

S,=x"+1>—6x-8y+10=0

i b I
5=x"+y " +2x—-4y-2=0

at the extremities of diameters of these circles 1s

5 =x"+3’-4=0

: 2 ’

$=x"+3y " —6x-8vy+10=0
S35 = X +‘1-‘2 +2x—-4y—-2=0

o3 HHFod T8 e 3§ podod HF DIoEGBw0

Options :

1 X" +j|'2 —4x—-6y—-4=0

" 9 3

., X+ ¥y +4x-4=0

T
xX“+y" =25

9
A+ +x+v+1=0
4

Question Number : 54 Question Id : 1874634374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
The length of the latus rectum of the parabola

20(:{2 +y° —6.1‘—-2‘1‘+10) =(4x-2y -—5)2 1S

‘ b
20(x” + 3% —6x -2y +10) =(4x-2y-5)" SoSechin @n§, TPoowsn PES

Options :

N5

1.

245

-
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collegedunia:

India’s largest Student Review Platform



Question Number : 55 Question Id : 1874634375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

= 3x — 2 is a straight line touching the parabola (v — 3)* = 12 (x — 2). If a line drawn
pe1pend1cula1 to this line at P on it. touches the given parabola. then the point P 1s

¥ =3x—2 3558, Hordochin (v—3)7=12 (x—2) L IHBohHH. & 6B DS
oF) o8 Dok P oo & Tk ADS wowly STrdochind YRR, © Hobhy P

Options :

£

-2
|
——
L
th
p—

. 2.9

Question Number : 56 Question Id : 1874634376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

"5 2
25 i ..

a

If (7, m) 1s the circumcentre of an equilateral triangle inscribed in the ellipse

having vertices at points with eccentric angles 6,. 6,. 6, . then

—[cos(@l 6,)+cos (6, —6;)+cos(6;-6;) | =

2 ki

X -
—3+b—2=1 8E 5)80S" wodBPotwdd oSy |Bhuo BoE), 2w 6,. 0, 6,
a . k. -

&é&u@w Serrenm o DodPo & eTon. o @zo HBoo (I, m) wond,

@HYEd %[cos(&l —6,)+cos(6, — 8, )+ cos( 6, —91)] =

Options :
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stion Number : 57 Question Id : 1874634377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Que
Single Line Question Option : No Option Orientation : Vertical
If / and b are respectively the length and breadth of the rectangle of greatest area that can be

inscribed in the ellipse x? + 412 = 64, then (/. b) =

C+ 47 =6468

RS\ D

12

§ 5)806° ©088DESg 16% BTrogo KOS HY BSSHY FEQ SoBuw

et

S 1500050 b oond, wdyd (I.b) =

Question Number : 58 Question Id : 1874634378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
If 2x— Ak + 3 =0. 3x—v+ 1 =0 are conjugate lines with respect to 5x° — 61> = 15. then k=

52— 62 =15 Syrg 2x—hky+3=0.3x—y+1=0 &3 Tpen Jocdnmeand edyd k=

Options :
gcollegedumaa
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Question Number : 59 Question Id : 1874634379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The points A(2.-1.4). B(1.0.-1). C(1. 2. 3)and D(2. 1, 8) form a

A(2.-1.4). B(1.0.-1). C(1. 2. 3). D(2. 1. 8) Dotoho&* IHBH &8

Options :
Rectangle

8 S8R0
. i

Square

DSG R0

12

Rhombus

ow) W f_-‘ﬁ::cb;iau

Parallelogram

RRF0SBS Wtz o

Question Number : 60 Question Id : 1874634380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If}’l.n.i*1 '

O is the origin. then the direction cosines of the internal angular bisector of |[AOB are

N

and / 3+ My 1, are direction cosines of ﬂ and @ such that [AOB =8 . where

[y my. 1y 800050 [, . 1y &0 OA.OBo Qg &8 FRee, O Hrododd Sodadn
AOB =6 woxn3, ‘|AOB Bg) wods T Q0B POHBS O &8 Fodoen

Options :
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W+l my+my m+mn

W i .8 5.5
Z2sin— 285mm— 2Z2sm—

~ o) .

1. - - -
h=1Il, my—my n—n,
e 6 o)
2cos— 2cos— 2cos—

n 2 2 2
h=1, m—my, n—n,

. B .8 . @
2simn— 2sin— 2sin—

3, 2 2 2
h+l, my+m, n+n,

6 [ &
2cos— 2cos— 2cos—
) " 2

4 R o i

Question Number : 61 Question Id : 1874634381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The distance of the plane 3x + 4y + 52+ 19 =0 from the pomnt (1. —1. 1) measured along a
line parallel to the line with direction ratios 2. 3. 1 1s

2.3.188 Sopgen o DpH SSroddsnm ol o8 Op Io0ad, (1.-1. 1) Doy Sod

3x +4y + 52+ 19 = 0 00380 o Srddn

Options :

23

=
le i
S‘tﬂ
[ B | -

X

(B
o

Question Number : 62 Question Id : 1874634382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform

el



" m"
. sinx—e
ForA#0. x<0. lm — iz
n—e 14 4e™

‘ SO
KD sebd fa it = o

n—e= 14+ 4™

Options :
1

, A

SIN X

!.-J

A

—sSmx

Question Number : 63 Question Id : 1874634383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

! ki, i BT P
Define f(x)=- ’ ”
ok if 0<x<1
L x—2

If 11(1_1}13 S(%) exists. then p=

',}1+ .-—Jl— X
e : px- —1< x <0 wonlddyds
f(x)=+ :
o P
i 0< x <1 wandsydd
! x—2

™ dgDosod. MS(X) 5558308 wdydd p deos

Options :

<2

-
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Question Number : 64 Question Id : 1874634384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

oo 2n-1
: : ey X . :
Given smx = <1y . If the function f(x) given by
nz:ﬂ( ) (2n—-1)! Soas )
cos(sinx)—cosx | . .
Jfx)= 3 (:t; - 0) and f(0) =k, 1s continuous at x =0, then k=
X

o 2n-1 ' i -
, 4 x . cos(sinx)—cosx .
SINX = HE_ (—1)” (ZH 1) o . f(x)= .1'4 (1- ” 0) 486530

f(0) =k d5DE20S ©Hocho f(x). x = 03¢ ©dYH)Soond, edyEs k=

o | -

L2

N | -

o

Question Number : 65 Question Id : 1874634385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match for each functions in List-I to its derivative given in List-II.

T -1 S (D8 PDooSEr e -l SO ) wifozod 2ELIT0A.

List-1 List-1I
e -1 rde - 11
gy 2x .
A) Sm ra I) cosx—sinx
- " ]
Tan™
B) ( 1+ .“l') ID 1+ ;{‘2
_log| ) -
log( sin x+cosx
2 e - 14 x°
- T
D) \/1-511131'(0<-1'<I) IV) cosx+sinx

V) —smx-—cosx

The correct match 1s

DBGoN &4

Options :
A B < B
¥ I %
A B € D
A3 IV N
A B £ D
L W 5 ]
a8 3 £ D
L € 3T B

Question Number : 66 Question Id : 1874634386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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. 1 | .
e i ) b s Oe:r«-:% and f'(7)=f(t)g(t).theng (=

l—cosect

)T,- _ l+cosect o iR Gl o
0<r<:? § f(:')—lﬂmmﬂir 50000 f(1)=f(1)g(t) wond, g (P

Options :

| —4 cosec 2t

4 cosec 2f

L2

2 sin 2
3 2sm2f

4 4 cosec 1

Question Number : 67 Question Id : 1874634387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2

i &y . &
Ifx=4cos’@andv=3sin’0. then —5 at @ =— is
dx” 4
o
. /8 d-v
x=4c0s°0. y=3sin’Qwond, §=— 5 —5=
- ERLSE ;
Options
1
2
2. 6
-1
;3 6
-1
§ 3

Question Number : 68 Question Id : 1874634388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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India’s largest Student Review Platform

el



Tangents are drawn to the curve v = sin x from the origin. The locus of the points of
contact 1s

y=sinx 0 SEA8 Sorododhd S00d HGHdper AoadSd. & )Y DoddHe
DOBODEG DN

Options :
1 XYy=xXTy
) ) ) 2
n BP R
Xy =%—y
3.

Question Number : 69 Question Id : 1874634389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A man of height 2 meters walks at a uniform speed of 7 meters per minute away from a
lamp post of height 9 meters. The rate (in meters per minute) at which the length of his
shadow 1ncreases 1s

2 D& Ko w8 HIN 9 DY &Ko of B5H Fodo H0d JSIVE T Hexd
DEGrD HAS Sthodr FH0d, 03D HE Bng), DHDSL Bio (ISPTIE DLgs’)

Options :

?
1 I -

S

1o

| 1

Question Number : 70 Question Id : 1874634390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Let a, b, ¢ be real numbers such that 2a + 3b + 6¢ = 0 and g(x)=ax’ +bx+c=0 has

atleast one root in the interval (1. 2). If a function f: [1. 2] — [R for which Rolle’s mean
value theorem holds 1s such that f(x) 1s a prinutive of g(x). then f(x) =

a, b, c o3 TS Sopgen 2a+ 3b + 6¢c =0 wvBoghitn eIchbotomro. (1, 2) woddos*
g(x)=ax’ +bx+c=0 & Ed0 uf Srosnodfome. &S HHdgH dend dodo
00Tt &) el Hodbo f:[1.2] 5 Re3b g(x) S Grigiscdgbin &8, f(x)=

Options :

g
1 .1'3 — 3"+ 2x

3x° —6x° +2x

]

1217 —14x% + 3x

I —x

Question Number : 71 Question Id : 1874634391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The maximum volume (in cubic units) of the cylinder which can be inscribed in a sphere of
diameter 6 units 1s

605:0‘36;3 &Séfm Ho o8 Y50 Soh @-Uég@ufﬁz&&c‘ﬁ agﬁf}w SSRVISR ﬁf}f& DRNDB DI*ea 00
($08 ciordts®)

Options :

1 12«/5)1'

Question Number : 72 Question Id : 1874634392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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3 3
dx = A(x)(x+1)* +B(x)(x—1)* + C. then A(x) + B(x) =

x
'[\h'+1 +4x—1

3
dx=A(x)(x+1) 4 B(x)(x—1)°+C @ond, A(x) +B(x)=

) we

—
x+1+vx-—-1
Options :

.
. 18

L2
a—
h

Question Number : 73 Question Id : 1874634393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

J‘ .1"10gx3dx=
[v-1)

X
Options :
| i logx
g o s L
|
| e |
i log x
Sec 11’ - < +c
9
b x"—1
loga =3
—Sec ‘x+c¢

[ ]
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Question Number : 74 Question Id : 1874634394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

j‘ cos2x-smdx

c054 1‘(1 - COSE 2.1')

ax =

Options :

[ 1+ cos2x

.
< +sec x4+
l+cos™ 2x

log

S

§)

1+cos2x
2( cos 2x)

-

lo +secx+c

(1+coszx)

=

3

(1+cos2x) )
log ——+sec” x+c
(1 +Cos” 2.1‘)

L

.
1+cos™ 2x
log —+secx+c

“(1+cos2x)
( )

Question Number : 75 Question Id : 1874634395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

L= ps ‘4 L » .
If4,= j. e " -cos” xdx . then .
T “14

:

3 Py Ay
A4 = Le . co xidx wond, 4% _
u Ay
2

Options :
3

-

|,
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Question Number : 76 Question Id : 1874634396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

; 1 1 1 1
lim + - +.+— =

n—e | N4+m n+2m n+3m 1+

Options :

log, (m)

il m

]oge(1+rn)
1+m

(%7

Llogg(1+-nr)

m

L

-loge(lﬁ-nf)

1 —m

Question Number : 77 Question Id : 1874634397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

r— —

¥
2 cosX
Tan™ [ 'gﬁ‘z
w1lte
83 I
Options :
T
, 4
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Question Number : 78 Question Id : 1874634398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3 ; i 9 - ..
The area (1n sq. units) bounded by x==y. v =x + 2 and the X-axis 1s

X*=y.y=x+ 250000 X-wfod 0283 ITogo (5. SurdLes’)

Options :

W | 19

| W 1

LD

Lo
|

Question Number : 79 Question Id : 1874634399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statement (I): The elimination of arbitrary constants from o. B and y from
v = (0. + P + 7v) x results in a differential equation of order three

Statement (II): The elimination of arbitrary constants o. B and y from
v=0x + P sinx +7y ¢ results in a differential equation of order three

RSSSo I: v=(0+P+Y) xS SrEyNE pomhes o B, Yo Sofodm Soovdd
DOSr0 o wdtod Jidwo SN0B.

PSSSo (I): y=ox +Psinx+7ye'SD GrE s RiTHe o B, Yo Sodoum
Soorddy H0Sreole wiked Sdsdmo SH008.

Make the correct choice of the following

Bod TS J0FTITR) JowE Dood

Options :
I 1s true and 11 1s false

I ée‘.’agu* II @ééﬁgu

I 1s false and II 1s false

I @éégu‘ II @K)ejgu

-2

I 1s true and II 1s true

1 E'Jéﬁgu, II Eéégu

I 1s false and I1 1s true

I @ée‘égu‘ II ?f)e‘égu
4.

Question Number : 80 Question Id : 1874634400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

... dy
The general solution of sm y- E =cos y(1-xcos ) is
Sify -~ =co8 v(1-xcosy) S8dsn Swg T FES

Options :

collegedunia
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secv=x—1—ce"

. "
secy=x+1+ce

12

secy=x+e" +c¢

 §
. s X
4 secy=x—¢€ +cC
Physics
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 1874634401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 1% and 2% are the errors in the measurement of mass and density of a cube respectively.
then the error in the measurement of length is

(]
L
.__h:.
&

Question Number : 82 Question Id : 1874634402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A body travelling along a straight line path travels first half of the distance with a velocity

7 ms™. During the travel time of the second half of the distance. first half time is travelled
with a velocity 14 ms and the second half time is travelled with a velocity 21 ms™. Then

the average velocity of the body during the journey is

JEGBP SrPoS® HOSrBHN) wf S0P s SKo Srdo 7 msT SKod HairBoBD.
DAOS Sifo Erdod HoSrBobri Htusees® Sfo Too 14 msT Ifos S, JAOS
difo soo 21 msI 3K H PAirBoB. Pireos® & $%0Y dEw JKo

Options :

14 ms™

10 ms™!

-2

-1
3 9 ms

12 ms™?

Question Number : 83 Question Id : 1874634403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : The range of a projectile 1s maximum when the angle of projection 1s 45°,
Reason (R):  The range of a projectile depends only on the angle of projection.

QS0 (A): WEIE0 AoE), Tgw WESNES'0 45° wandYd HOJSIHD.
somo (R): ($Ed80 Awg gl BEHEEDoD SrEdh emdsd.

Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

1 (A).(R) &0 Bodks S50 S00aiw (R). (A) & SB8 I58ee

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)

(A).R) o Bodd D550 5 (R), (A) % 335 25 56

(A) 1s true but (R) 1s false
. (A) S50 570 (R) wd&ghw0
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(A) 1s false but (R) is true

, (A) e58550 32 (R) Sdg50

Question Number : 84 Question Id : 1874634404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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A car moving with a certain velocity. jumps from an inclined plane placed at one bank of a

river and reaches the other bank by attaining a maximum height of 80 m. If the same car.
moving with the same velocity jumps from another inclined plane having different angle of

inclination and reaches the same point on the other bank by attaming maximum height of
45 m. then the width of the river is

Fod Jrod’ PASrdind) o8 576 S68 a8 alfd fo of Tred 2o Hod &8, 80 m K0YQ
Q& DO, 86 widw wfSH V00h. ©B N ©od JNINE' I6E T Fwod' &),
DTE Trew LR Wod Gré 45 m A0 JE WO wide SN o ©d DoPS VOIS,
wond 6 Idev)

Options :

; 80m

60 m

13

125 m

240 m

Question Number : 85 Question Id : 1874634405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa

el



A system containing masses and pulleys connected on an inclined plane 1s shown in the
figure. If the system is in equilibrium then the value of m 1s

2L0&" druddnm (BSgorben So8ain Sfb‘)e.n SOJEN :35.:5"’@@ w8 TFwdwow wod. &

-
a

5552 VSreRSS* &06% m DS
& &

12

Question Number : 86 Question Id : 1874634406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the arrangement shown in the figure. the coefficient of friction between two blocks is
0.5. The force of friction between the two blocks 1s (Assume that the 4 kg block 1s placed
on a smooth horizontal surface)

(Acceleration due to gravity = 10 ms™)

wl0S" Wrwd Do 6)33&&3 ;’ndﬁg @lem eabo 0.5 o8 s To &33&@ ;’)odg ;’wam
200 (4 kg 630 DS S8 JBr0dl S0 GHEDERIN)

(oS8 Sc8Sn = 10 ms™)

Zkg -3 ZN

20N « 4kg

Options :
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Question Number : 87 Question Id : 1874634407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the arrangement shown in the figure. work done by the string on the block of mass

0.36 kg during the first second after the blocks are released from state of rest 1s (Ignore
friction and mass of the string)

(Acceleration due to gravity = 10 ms™)

20S" drald wilES® Ao JTW 28 wod Jwdew Do, 0.36 kg ($5g073
fo 30w IS8 DEDLS TrdSw DS DB (o8, orddn (BH5078 JJ)P0YSw.)
(oo Scdeosn = 10 ms™)

0.36kg
7
A
0.72kg
Options :
1 817
) 4]
+ 183
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Question Number : 88 Question Id : 1874634408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A man who 1s running has half the kinetic energy of a boy of half his mass. The man speeds
up by 1 ms™ and then has the same kinetic energy as the boy. The initial speed of the boy is

QORGSO 8 Sg8 88 |$IgT"S” Jifo (BHg0°R Ko wrend Ke8=¥ES" Sio H82¥EQ 894
G, ¥ 358 S B 1 ms™ o3 w8s K8=¥8 o wrend K8=¥ES* HSrSo wo0d.

BoNd e Ted &0 &

Options :

3 '\E+l ms ™!

+2(ﬁ+l)ms_l

L2

\E ms

2 ms_l

Question Number : 89 Question Id : 1874634409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A solid sphere rolls down without shipping on a smooth inclined plane of inclination
Sin~! (0.42). If the acceleration due to gravity is 10 ms™, the acceleration of the rolling
sphere 1s

Fen Soo Sin! (0.42) Ko 2.8 DB TE00 VIOV &8 I Fo ZEROT THRWDHG.
Kodd; Sedmo 10 ms~wond &) Do By, Fdwo

[
()
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Question Number : 90 Question Id : 1874634410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A thin wire of length ‘/" having linear density ‘p’ 1s bent mto a circular loop with C as its
centre as shown in the figure. The moment of inertia of the loop about the line AB is

DLBNS® Srddn, FEY T, TP FodE P’ Ko wl IHE &8 C Bo@dor Ko
(S50 Sosnsss. ABBp Do oD wdd; @SS

A
A

L-2
[a—
=)
3

; pﬂ

8T~

3pl°
87’

Question Number : 91 Question Id : 1874634411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A particle executing SHM along a straight line has zero velocity at points A and B whose
distances from ‘O’ on the same line OAB are ‘a’ and ‘b’ respectively. If the velocity at the
mid point between A and B is “v’. then its time period 1s

a8 J¢0p Jowd .58, S* Ko of Sadn A H0csn B dodheo & SoF) Inbnso
807PHobh. OABIGF 0 ‘0O’ %008 A.Bo drdines SHdm ‘a’ dcin ‘b’. A Sodain
B o 5ogg Dok S ol 30 V' wowd. fndn SoTdgs ol

Options :
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Question Number : 92 Question Id : 1874634412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1
A rocket is launched straight up from the surface of the earth. When its altitude is 3 of the

radius of the earth. its fuel runs out and therefore it coasts. If the rocket has to escape from
the gravitational pull of the earth. the minimum velocity with which it should coast 1s

( Escape velocity on the surface of the earth is 11.2 kms™ )

1
w8 U0 Fradddoo od IYILIT D8 PArIoT . wWh gl TgFFes 3:5

0B B I GHIYE TR RS0 WOWFT, Wb '?aﬁsﬁian“ S00&H FHHHd. 88
grd HdeEdnd whidod Jordhio FodsBiod ©b *asﬁa:)n“ S0odosy Bty
50N GodSeond % IKo

(4 690800 Seradd 3Ko 11.2 kms™)

Options :

1 11.2 kms™

10.7 kms™!

L-2

B3 kms™!

8.7 kms™!
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Two wires of equal length and equal cross sectional areas are suspended as shown in the
figure. Their Young's modulii are Y; and Y, respectively. The equivalent Young's modulus is

a8 PEY, o8 edf'EITogo o Tom o Hdns® Srhd JFor BordbdT .
T8 SHoR Kmsen SEHm Y S0 Y) @ond 508 ool Ko

VIS SIS SIS SIS IS SIS III SIS IV 4

e

&7 1 &?1

Options :

: Yi+Y;

Y+ Y,
RILALY

-2

| Y, Y,
Y+ Y,

(5]

i

RS

Question Number : 94 Question Id : 1874634414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A rain drop of radius 7 1s falling through air. starting from rest. The work done by all the
forces on the drop. when it attains terminal velocity. 1s proportional to

‘J":}”S.ﬂ“gfﬂs fo o8 38 VoI RIS SN %Cﬁ 008 Bodsy JHWHHB. & ST
DoHY SES Do &u&é&ﬁj@ s oY D ©Q) DTN B A0 & 808 TAS*
B8 @S S >doSt Golnod.

Options :

3
1."
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Question Number : 95 Question Id : 1874634415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements 1s correct regarding P—V graph?

a)

b)

d)

Slope of PV graph in an i1sothermal process is ..

\;F

’ : T . P

Slope of PV graph in an adiabatic process 1s g
S L P
Slope of P-V graph in an 1sochoric process 1s i

Slope of P-V graph in an i1sobaric process 1s zero

P-V (08 So2080d0 3858 Trsegen

a)

b)

c)

d)

Options :

a. C.

a, C,

l.

SBoePHS HBADHS® P-V 5 Ten -%

o o o, r — P
g@‘gé ©DBo%es® P-V o Tren 5

yP

PPN I BBoS” P-V (T Tren %

35585 BBoHS* PV irp sren 08)

d are correct

d:‘ﬁe‘ﬁsu

b. ¢ are correct

b.& ée‘égu
s |
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a. d are correct

: a. dr‘éd‘ﬁgu

b. ¢. d are correct

b.c.d ﬁe‘ﬁgu
4.

Question Number : 96 Question Id : 1874634416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two metallic spheres P and Q made of same material have same smoothness but the weight
of P 1s 8 times that of Q. If the two are heated to same temperature and left to cool. then the
ratio of rate of cooling of Q to that of P 1s

&8 HTgod’ TS Tods S'FY Hemen PHoddin Qa8 Sododddn 8§ &anown, ©ond
P Bw¥), 26), Q2P 8 Binod. 28 i eIish & BY, Johbs SO,
Q Soad Tk, P Pond Dot Hdy 8

Options :

, 4

-3
o0

2
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Three moles of an 1deal monatomic gas performs a cycle ABCDA as shown 1n the figure.
The temperatures of the gas at the states A. B, C and D are 400 K. 800 K. 2400 K and
1200 K respectively. The workdone by the gas during this cycle 1s

(R - universal gas constant)

Sords o VESTErenE BEGToNY Dok, SEoH HEH JHBNS® BB o
ABCDAZo2& ¢otnod. A.B.C. Do 5& s7aind eifiides Sdhdm 400K. 800K,
2400 K 5003» 1200 K & |BBcHS® srosng BRS B

(R->5g @8 arodn poroso)

PA > /

Options :

1200 R

—

3600 R

L-2

2400 R

, 2000 R
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An msulated system contains 4 moles of an i1deal diatomic gas at temperature T. When a

heat ‘Q" 1s supplied to the gas. 2 moles of the gas 1s dissociated into atoms and the
temperature remained constant. Then the relation between Q and T 1s

(R - Universal gas constant)

w8 GQuodt Sg0S" T &aiid 3§ 4 3rdo wid) ghssrmnE ainyd &dHd. 88 *Q’
&) AYJYD &) dodd 2 Irdo TABNY I8 SSErs TABRYHT oW
SS Yoo GoBH. wod Q Hoduin Te Dy dowogo

(R - @8 aradow Roroso)

Options :

1

-2

4

Q=RT
Q=2RT
Q=3RT

Q=4RT
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L2

1400
1089
propagation in it is 330 ms™, then the number of degrees of freedom of the gas molecules is

Under standard conditions. the density of a gas is kg m™ and the speed of sound

1400 g
(RS ed 8 58%6’9&&&5‘} O30 Foide 1—'0?5 kgm 3;&)5@3}3 oS S 38 330 sl

©oNd. © Joi WY s HOMHO dopg

N
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Question Number : 100 Question Id : 1874634420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When the air column of a resonance tube 1s vibrated together with a tuning fork. 3 beats are
heard per second. either the temperature of the air column 1s 51 °C or 16 °C. The frequency
of the uning fork 1s

28 o8 ﬁ‘é,:uu d:’mégr W@éua“;’uﬁn, el éq)ﬁ'& Sodod w80 50’3}053“&553&. Wé’)&’:&q}ueju
&%@15’5 31 °C 5é &) a8 16 °C 5:.:5_. G, 08 DE 3 52330:;5&"&13 RS TAT SN
%ﬁcﬁuéu cﬁ)&égf ﬁ“é:@égu

Options :

. 128 Hz

98 Hz

L=

; 105 Hz

256 Hz

Question Number : 101 Question Id : 1874634421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two sources A and B are producing notes of frequency 680 Hz. A listner moves from
A to B with a constant velocity “v". If the speed of sound in air is 340 ms™. the value of ‘v’
so that he hears 10 beats per second 1s

A 508050 B @i Bodo §ed adsten d3:)dgo 680 Hzdo Sorod 818 Tdanow. b
§'S RS o ‘v'E Adood BB S0Td. mOS* ¢ Sifo 340 msT. wond §°S
PELR 10 ISydTod ISS8I08 v BE), 00

Options :

| 2.0 ms™!

-2
)
h
-
-

[N
Y
o
=
‘i
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A thin converging lens of focal length 25 cm forms a sharp image of an object on a screen
placed at a distance of 75 cm from the lens. Later the screen 1s moved closer to the lens by
a distance 25 cm. The distance through which the object 1s to be shifted so that its image on
the screen 1s sharp again 1s

25 cm Tergodding) a8 Hendd w0 SLAE 75 mErFoS® &&) BY W8 wE S5
S, 8F OV W HH8. ShTd BESH ELEDE SKET 25 cm 2S5BS,
e BY 8 HEDoIN DY) o GoLHBIN) SNYH 2HIJORS Srdo

Options :
50 cm towards the lens

1 L850 3R S0 cm 2HISTD

50 cm away from the lens

; 8o od Srdom 50 cm 2HI380

12.5 cm towards the lens

: 8o 3 12.5 cm 2H IS8

12.5 cm away from the lens

A 80 od &rdormr 12.5 cm 20353880

Question Number : 103 Question Id : 1874634423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A ray of light 1s incident on the surface of a glass plate of refractive index ﬁ at the
polarising angle. The angle of refraction of the ray is

3 SESES Kossin Ko mer HoE D ol 508 S8nin G)SnE'nos® S850 BobIB. ©
B0 SESSS Fdn Jevd

Options :
30°
5

45°

1o

3 60°
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Question Number : 104 Question Id : 1874634424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Six point charges each of magnitude ‘Q’ are placed at the vertices of a regular hexagon
of side ‘a’ as shown in the figure. Electric field intensity on the line passing through the
centre ‘O’ and perpendicular to the plane of the figure at a large distance x(>>a) from ‘O’ 1s

1
47 €p

=k

o888 ‘Q’ H0Sradn o s sITod ‘a’ ghadule Bondye 0300 I8 SLos”

Srod o GodTd. Sodhn ‘0O’ Howr Fer SLdondH vonor fo J6¥dyD

‘O’ $008 LHESFEIN X(>>a) 5& IogS

Options :

12
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A ball of mass 1g having a charge of 20 uC is tied to one end of a string of length 0.9 m can
rotate in a vertical plane in a uniform electric field 100 NC™! directed upwards. The minimum
horizontal velocity that must be given to the ball at the lowest position so that it completes
the vertical circle is (g =10 ms™)

1g 555078, 20 PC esS¥o o o8 208 0.9 m D&Y fo o o8 VS 8, IJ 100 NC
dngoom JATHRY) 808 Jgs FPoS' JwY S00S" @Y. ©h wE Jeodh KT
TG Doinbd, VW) Do) 56 0088 AHBOVS D §8z Jiress Ko
(g=10ms™2)

Options :

.9 ms™}

18 ms!

7

g 36 ms™!

6 ms™

4
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Single Line Question Option : No Option Orientation : Vertical

A regular hexagon of side 5 cm has a charge 10 uC at each of its vertices. The potential at
the centre of hexagon is

5 cm ghzo Ho E& k2 A, ©8 %o $& 10 uC o &od, T So@o &
SBISS

Options :

, OV

18 x 10°V

-2

108 x 107V

sl

1.08 x 10°V
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The potential in an electric field varies as y = (_1-3 ¥ _1-3) . The electric lines of the force mn

X —Y plane are

o€ DS FB0S* DS FBAGHS, V= (2 —1?) & Srbdr o0d. X—Y Sooss* &

SIS Dgs welpen

Options :
Y-axis
AN\
/ \
< 7
£ > X-axis
Z N
N 7
L.
Y-axis
/\/)
Y-axis
AN\

3.
Y-axis
AN
(__ > X-axis
4
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[
The length of a potentiometer wire is ‘/°. A cell of emf ‘E’ is balanced at a length (E) from

positive end of the wire. If the length of the wire 1s increased by ( ) , the distance at which

2

the same cell gives the balancing point 1s
(cell in the primary is ideal and no series resistance is present in the primary circuit)

FEBATrLE 8 DEY I’ Dogs Tl oo ‘E’EO0S wf Lo GIRrhodSHad
(1 (1

8 QwE, &S VB0 od Jodeod PEY (;) &BQ@?&&& S >EY [;) DEB

Do el VY] 88 Sohod Do) Drtﬁ;)cb S 80 (P& s Socios” dodio &Scﬁfﬁrgiwéou
508w @PEE Seohod® @8 JAEo drgo)
Options :
2_/
l. 3

|~

13

N | ~

4]
-
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. . . : yia. |78 . g > . & A
‘n’” 1dentical resistances are taken in which = resistors are joined in series in the left gap

- n : v ; : : ;
and the remaining - resistances are joined in parallel in the right gap of a metre bridge.

Balancing length in cm 1s

]
‘N’ BEIIrIS A’ Tod ShhTh. FES” = ATTOH @FHS Ardodd D& S8

2
S S0, DAOD = JE TR0 JSrosSor 208 TS D EODHB, b BGS* Sodhod

>dy cmeS®

Options :

10077
n”+4

1007°
nz+1

-2

400
nz+4

400
n2+1
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The magnetic field normal to the plane of a coil of ‘N’ turns and radius ‘7" which carries a
current ‘i’ 1s measured on the axis of the coil at a distance ‘/" from the centre of the coil.
This is smaller than the field at the centre by the fraction

TGS wadro, 17 agdrdo, N by &) o &8 oy S8 woworr, SithY
Boodo0s o wion Brdo A’ $& wohd) 08 JE) FOTdh. & Jeod T oo H&
fo BBo $08 855 40 Jend P Srdos”

Options :
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L2

A small block of mass 20 g and charge 4 mC is released on a long smooth inclined plane of

inclination 45°. A uniform horizontal magnetic field of 1 T 1s acting parallel to the surface.
as shown in the figure. The time from the start when the block loses contact with the surface
of the plane 1s

45° Sroof'00 o of PEIS DHE Twdwo Ird Nod 20 g |$Sgoe SodaSw
4 mC es3éo Ko o8 &) B30 SEowdod. HLOS® Wrhd Ao, Tred Sorls Sdroddon
1 T 2808 §82380r088 ©obdn 08 o H Bonthd)h. B SE0wdINBHod «b
008" 30 FSHPLE iy oo

q
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Question Number : 112 Question Id : 1874634432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following List-I with List-II

List -1
A) JEd4
B) BdA
C) dJEdi
D) dBdl

8ol Q3288 rder-1Q, wrder-ll & 2856W04.

da~ -1
A)  JEd4
5
B) JBd4
5
C) dJEdi
i
D) {Bdl
i

The correct answer 1s

OIS JW¥rT R0

Options :
A B
| I II
A B
N I\Y% I

|

H M

O

V)

gcollegeduniaa

el



N S I N
& B & B
3 9 \Y |
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Two concentric coplanar circular conducting loops have radii R and 7 (R>>7). Their mutual
inductance is proportional to

Bodd I8 Bo JESOADH HEs s TEY edie FgdrTer R oo r (R>>r). o9
od'gdy (D880 & Bod FES® B8 S SrdFdos® Golnod.

Options :
7

R

- |

12

—
2

g,

R-..
7
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When an inductor L and a resistor R 1n series are connected across a 12 V. 50 Hz supply. a
current of 0.5 A flows in the circuit. The current differs in the phase from applied voltage

T
by 3 radian. Then the value of R 1s

o8 (w8850 L 500cin dF'¢s0 Rew @de® &od, 12 V. 50 Hz o 3850750 003,

8 S0co Dom 0.5 A dBgd RITN0H. ©NI0S FEICHE D0& ABLS WIT0
.}Z' " J

3 Boodhe &7 IPHX0H. wond RIend
Options :

| 10 Q

, 120
i 15 Q
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A point source of electromagnetic radiation has an average power output of 960 W. The
peak value of the electric field at a distance 400 cm from the source 1s

Aoghddhd)od 8T G T o8 Dodoadso BwE) I &&§ FSggo
960 W. 2580 &S00d 400 cm Srdos' Dogs 38 2pd Jend

Options :

L 60 Vm™!

120 Vm!

-2

30 V!

g

180 V™!
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All electrons ejected from a metallic surface by incident light of wavelength 400 nm
travelled 1 m in the direction of uniform electric field of 2 NC™! and came to rest. The
work function of the surface is

400 nm éwﬁg%m B 5708 JS550 ToHd S8 a8 STTrYSeo Hod JenidS ©)
JOFT e, 2 NC 1§58 Ko Sg50s®, Aogd JBHIS" 1 mErdo Eoiredod 3@532}3&%
ST, & dodn I HIooidn

Options :

, 1.1eV

22eV

L2

3 3.1eV

5.1eV
4.
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Speed of electron in its 1% Bohr’s orbit is given by 2.18 » 10° ms™. If the time period of
electron in n® orbit is measured as 4.10 femto second. the value of » is

56 WosS §EgS* oS 58 2.18 x 10°ms™ 1 aicedod. JogS u §ES° HoES
500 410 D3r0ES  BHoUwcEd ' Jend

Options :

|

L2
(B
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A radioactive substance of half life 138.6 days 1s placed 1n a box. After » days only 20% of
the substance is present. then the value of ‘n’ 1s

(In (5) = 1.61)

2.8 "'&::EQQS‘ 138.6 &are @Qéaé?uu ‘e 3&@?@“%5 ;’mgum Gow n owre ST
D000 HE. 20% :.’::cs“go SR AO8 ‘n’ Jend (In (5) =1.61)

Options :

, 693

138.6

12

Question Number : 119 Question Id : 1874634439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Three amplifiers with voltage gains 10, 20 and 30 are connected in series. If the input
signal has a peak value of 1 mV then the peak value of the output voltage 1s

S@z 5)Beo 10,20 58050 30 0o Ko Sordd S¢s en @8S" Eaodaddd. IS¢ 0885w
QSwE, pd Jo0d 1 mV E9000N (e HOBS S0 0L, P IS

-
(@)
o
-

3 0.L6V

0.06 V

Question Number : 120 Question Id : 1874634440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A TV tower has a height 160 m. Its coverage range 1s nearly
(Earth’s radmus = 6400 km)

28 TV &58 83 160 m. od ©Hers J7gd) S8
(g g5 = 6400 km)

Options :
1 45255 m
55265 m
3 452.55 km
" 552.65 m
Chemistry
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 1874634441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the kinetic energy of an electron of mass 9.0 10~ kg is 2.0 » 1072°J. the wavelength of
the electron i nm 1s approximately

9.0 x 107! kg (8855073 Ko Jogs Aé2d§ 2.0 x 107°] wond © JogsS SSorgdgo
nm ©e&° IS

Options :

1 1004.3

1204.3

L3

1 1104.3

sl

4 9943
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Question Number : 122 Question Id : 1874634442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a suitable photon is employed to locate an electron (mass = 9.11 » 10! kg) in an atom
within a distance of 10.98 nm. the uncertainty mmvolved in the measurement of its velocity
. _I '

inms— 1s

OGS FErSH GIBrA0D HESrYS” &) JogS (B5goe =9.11 x 107 kg) &
10.98 nm &rdo S*He EAIKONS o0 Ko Fodd” &l vl E&o ms™! o
Options :

1.6565%10°
7 /s

1.6565%x10%
/4

12

1.6565x10°
/4

1.6565x10°
T

Question Number : 123 Question Id : 1874634443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following is the correct order of ionic radii?

Bod TBS” B WAirIE TEFTO VIS EHo?
Options :

1 Prr>Gd> >Tm®"

| Prit<Gd <Tm’"

I-2

Prr>Tm’ >Gd>*

Prt<Tm’ <Gd>*
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Question Number : 124 Question Id : 1874634444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Observe the following molecules/ions

1808 wewHen / BASFreON H02O0LHEW

H,. N,.0,.N;. 05, 05,

Identify correct statement
OGN ST Hofouokun
Options :
H,. N,. O,. F, show diamagnetic property
: H,.N,. O,. F, &0 dodr e@chdn,od §omQ) ©8E8)0

-03. 0;. O5. N3 show paramagnetic property

0,.05.03.N} e 30 echdm,od $omR) BEh0R

7

N,. F,.03. O3 show diamagnetic property

; N,.F.05. 0; @ &0r ©9dbdnod o7 @&t

H,. N;. O3. O; show paramagnetic property

; H,.N;.05.0; &0 2T @ohd,od o) &80

Question Number : 125 Question Id : 1874634445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa

el



Match the following.

List -1 List-1I
A) BrF; I) AB,E.see-saw
B) SF, ) AB,E,.square planar
C) XeF, I) AB:E.square pyramid
D) CIF; IV) AB;E,. T-shape

V) ABE,. square pyranmid

Bod 8B 2SHEHB®.

s -1 rdo - 11
A) BrF; ) AB,E.&S50& 20
B) SE, I) AB,E, 35de S
C) XeF, ) AB.E. S8 Soragsdo
D) CIF, IV) AB.E, T-ess8o

V) AB(E,. S8 Sorargstdo
The correct answer 1s

HOGS ST EE0

i
o
®
o

O I 5 %
A B C D
+3 I B N
a2 B £ B

Question Number : 126 Question Id : 1874634446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If the most probable speed of CO, at 27°C is 400 m s, the root mean square velocity of
CO, at the same temperature in ms™ is approximately

27°C 58 CO, K03 Soerdgd Sfo 400 m s wond ©d &Yis 5§ CO,Ire Sore
difen Sre Sho m s 0 HoSrdl

Options :

| 600

490

13

12
N
~1

-
N
h

Question Number : 127 Question Id : 1874634447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

20mL of Fe” solution of certain concentration has completely reacted with 20 mL of
0.01 M K,Cr,0; in acid medium. If 20 mL of same Fe?™ solution has reacted completely
with 20 mL of KMnO, solution in acid medium. the molarity of KMnO, solution 1s

28 QRS S Ko 20 mL Fe** @dmo 0.01 M réddseo 20 mL K,Cr,0; @snod
woosrigos® o S8y 20008, wond ©d 20 mL Fe** mdmo 20 mL KMnO,
S0 d’ @ oSrdBoS” o Wy 28Sm KMnO, @S00 30ardd

Options :

- 0.01M
, 0.12M
, 0.10M

, 0-012M

Question Number : 128 Question Id : 1874634448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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It K, for the conversion of oxygen to ozone at 400 K 1s 1.0 * 1070, its standard Gibbs
energy change in kJ mol™ is approximately

400 K 5¢ esgash La8'Sm 358) 365 K de0s 1.0 x 100000 od @ire A§) 4§
S50y kJ mol ! o&* Hosrdorr

Options :

| 229.8

114.9

S ]

3 —229.8

-114.9
4.

Question Number : 129 Question Id : 1874634449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At 1000 K. the partial pressures of CO,, and COgy for the reaction
L 6 Oy TC(5) = 2C0(4) maclosed vessel at equilibrium are 0.15 and 0.60 bar respectively.

The K_ for this reaction at the same temperature is approximately

b SR ed) FES, 1000KSG COymy+Ciy,) = 2C0 ) 605 95038 5¢ COx)

(

Options :

| 2.0 1074

2.89 x 1072

=

2.89 x 1072

5.78 x 1073

Question Number : 130 Question Id : 1874634450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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At T(K). if the ionization constant of ammonia in solution is 2.5 x 10, the pH of 0.01 M
ammonia solution and the 1omization constant of its conjugate acid respectively at that
temperature are (log 2 = 0.30)

T(K) 38 WAV OD® [@TDE00 DS ‘A)D*ué:ﬁw 2.5 x 10 o0 ©d e 38 0.01 M
WIS (@H00 pH, T stoaid ©i0 woasde oreso S8Sm (log 2 = 0.30)

Options :

1 10.7. 4.0 x 1078

2 10.7,4.0 x 10710

33,40x 108

, 33,40 10710

Question Number : 131 Question Id : 1874634451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following correctly represents Copper sulphate pentahydrate?

808 TES* A6 B8 ITYE DorT@ES B0 SgEHTR?
Options :

1. | Cu(s04)(H,0), |2H,0

—

‘|:C11(SO4)(H30)5]

L2

[Cu 0), |S0,4-H,0

SO,
.
O Xu( ,0), |- 2H,0
SO,

|:( H30)4 Cu

Question Number : 132 Question Id : 1874634452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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A compound (MO,) of group I element (M) hydrolyses to form M™. OH™. X and Y. When X
reacts with I, in basic medmum. the products formed are I", water and Y. Then X and Y are
respectively

ry ISresdy (M) 33:%%’56:113 MO,) zod3ie Tod M™, OH, X Soddin Y ol
DHON0E. F8 dirdtos” X. I, 8 S6gTosn 26188 SdlraTges I A Hdow Y.
wod X. Yeo SHdm

Options :

- H,0,.0,

—_—

H,0,.0,

L2

H, O,
3 &2

0,.H,

Question Number : 133 Question Id : 1874634453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s X n the following reaction?

8ol 1‘355&5" X 28?

NaH+B,H —S<tyleter_,

3638 S5
Options :
1 Na[BH,]
. NaBO,
, HyBO;
(C,H,OC,H,)" (BH,)

Question Number : 134 Question Id : 1874634454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Which one of the following is used as refrigerant for icecream and frozen foods?

§od TES* BIV PRIEND, w8ISOIS 8FE Sogo 5o @igsor (BP=dosm)
S HSFOAG?

Options :

Dry CO

4

Liquud CH,
(=2}

1

Dry 1ce

@mﬁ

Liquud H,
18

Question Number : 135 Question Id : 1874634455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Acid rain 1s caused by the presence of X and Y m air. X. Y are respectively

mOS® X $odain Yeo todioo Sol sd Sdo bb’g«ﬁoi&au&. X. Y e 3%354

Options :

S0,.NO,

1

CFC. 0,

L-2

CO.CEC

SO,.0,

Question Number : 136 Question Id : 1874634456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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TUPAC name of Q OCHj is
Q OCH, 0§, TUPAC %0

Options :
5-methoxycyclohexene

5-20 Cﬁ‘gt:,';‘cgg"z‘s‘%ﬁ

methoxycyclohex-3-ene
NTEDE T E-3-83

L2

methoxycyclohex-4-ene

T8 REE)-4-63

4-methoxycyclohexene

4-&@3&@23}"%5

Question Number : 137 Question Id : 1874634457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wurtz reaction of bromoethane gives n-butane. Sodium salt of X on heating with sodalime
also results in n-butane. Compound X is

B 3r$8e &6 Gdy o8 n-wrgdadied. X Gwg) Fdoho olerd) FTBaoé’
FETDT Erd newrglhs W& 0s. s X

Options :

 CHyCH,CH,COOH

_ CH;(CH,);COOH

, CHy(CH,),COOH

collegedunia
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, CH;CH,COOH

Question Number : 138 Question Id : 1874634458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Identify ortho and para directing groups from the following

&

Bod 8BS @_56;. >T° Q;FS Fé-&’é QIO DBotHod

~CHO ~NHCOCH; ~OCH; ~SO;H
I I I v

Options :

: OLIv

CILIO

L=

; ILIV

Question Number : 139 Question Id : 1874634459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

If 0.5 mol of a metal forms hexagonal close packed structure, the total number of voids.

and tetrahedral voids respectively in mol are

0.5mol © a.8§ %50 &&3‘12‘5&‘5& ﬁ{'.)f?c?ﬁ 800 80y QT Y0 235355)5 oa

BErodS oo Jopg S8 mol od”

Options :

1 15 1.0

11.0.0.5

]

. 10 18

0.35. 1.0

-

el

S'Q wodo Jogrew,
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Question Number : 140 Question Id : 1874634460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At 300 K an 1deal solution is formed by mixing 460 g of toluene with 390 g benzene. If the
vapour pressure of pure toluene and benzene at 300 K are 32 and 40 mm respectively. the
mole fraction of toluene in vapour phase is

300 K58 460 g o &5'OSQ 390 g Boddso Sodl edd) (@00 bﬁg&u& 300 K58 98

(]

9

500, Bodaw sy SHIm 32, 40 mm wons Wl @SHS* OIS o

Options :

, 0.196

-2
&~
A
0
o0

Question Number : 141 Question Id : 1874634461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If aqueous solution contains 9% and 1% (W/W) of two non-volatile. non-electrolytes

X(molecular weight 180) and Y(molecular weight 50) respectively. the boiling point of
solution in °C approximately is (K, = 0.52 K kg mol™)

X (esa0e8o 180). Y (weaner-do 50) o3 Bodks ©rA)I, @3&5&5;%;35 écs*o;e.m
383 9%. 1% (W/W) 2omrinod® &) e @dno 208 ¢Pid °C os* drdmr
(K, =0.52 K kg mol™)

Options :

L 101.4

1100.4

O ]

102.4

1100.8

Question Number : 142 Question Id : 1874634462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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If the E.,; of an equilibrium reaction

Sy (ﬂ‘?) - A(aq 2B(s)
at 298 K 1s 0.59V. the equilibrium constant K_ 1s

| . il b
298 K 3¢ Az) +2B, ) T A o) + 2B ) 5506738 S65 Eg,,, 0.59V wonsd
55aD8 Boroko K
5 8 c

Options :

. 1.0 x 1010

1.0 x 102

L-2

1.0 x107%

4 1.0 x 10%

Question Number : 143 Question Id : 1874634463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following statements is correct?

Bod DSToS* A8 S0GI6?

Options :

In collision theory e F¥RT corresponds to the fraction of molecules that have energy
equal or greater than E,

wadS dTodos’ e 630, E;Dendth S5r5308 ¥§ B8 0bEdl fo vmPo
gTY) BLVYH0H

The number of collisions of reacting molecules per second per unit volume of the
reaction mixture is activated complex

a8 drdl  HSH0Sr@o Ko Horg DEFS0S Sorgmoder af EDS® 20w
G IO éo@g@ ﬁ_@;ﬁéﬁ éugéu

L2
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Molecularity is the number of molecules involved in a complex reaction
28 D08R WEgS® P woPo Jopgdd wend
A catalyst catalyses the non-spontaneous reaction

woh&Edo 5 Gdgoh &@)so, e@)wo Dod

Question Number : 144 Question Id : 1874634464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following enzymes converts proteins into aminoacids?

& (80b JoBHOS' PFEIoH IDSBireor S50 87

Options :
Maltase

=

Trypsin
SR

Zymase

BS
o

Question Number : 145 Question Id : 1874634465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

X, 1s used in the refining of Ti metal by van-Arkel method. Y, does not liberate O, from
water and does not form HY and HOY with water. X, and Y, are respectively

>5-u7,6 5586* Ti 6'Fo T8506" X, % SDIrnTSH. Y,d8 S08 0,5 dde
Sk $000%0 JBS HY 50050 HOY o )85k, X,, Y,e0 563K

Options :
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CL. L,

]

L1

oL, 61,

Question Number : 146 Question Id : 1874634466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following statements is not correct regarding phosphine?

TO)OE $00d0R §od IHTRUS’ IB JOFSE TE?
Options :
It 1s a weak base

, 28 28 oIS 5780

It reacts with CuSO, solution to form C uHPO,
c 28 CHSO4LC5“:5EE)UE? ﬁdgcﬁ“u& CllI-IPO4S&J bé&&@u&

It is formed by the reaction of Ca;P, with HCI

Ca;P, & HCI $8g 20083y =286 bén)c&;e:&sué
3.

It 1s used i smoke screens.

HIV Fio BlwS® GIIrHITHD
4

Question Number : 147 Question Id : 1874634467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Aqueous sulphite reacts with dilute sulphuric acid to form X(g). The liberated X(g) 1s passed
into acidified KMnO, solution. What 1s the oxidation state of Mn in the product formed?

2e :-::ages. DOS Z-’.)w:,gﬁg 85008 S8gT0d X (5°)H Db’bdaiijéﬂs. A GBeand X (o) S
w¥)E KMnO, (@500S° 08 Sobomrdd. 2688 @airadgods” Mn Bw¥), s§sto 28
6?

Options :

. 6
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-i-
a

Question Number : 148 Question Id : 1874634468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Phosphorous reacts with SO,Cl, to form PCl; and X. At 723K. HC1 gas reacts with O, i the
presence of CuCl, to form water and Y. Y reacts with X in water to form two acids A and B.
What are A and B respectively?

;3%365. S(:)z(:‘lzts'ﬁ6 ﬂ'dgé‘a‘u& PClL; 50003 X oo bdﬂ)&ﬂ’ﬂéﬁ). 72-1(5}&5. HCl 570508
CuCl,350806*, 0,8 SBgT08 B 0N Y ol S %, Y. X & d8s* $835708
A. B a3 3ok E_Bflgt.‘l?&) biﬁs&i’néﬁa. A 58050 B oo $5H38 22?

Options :

H,S0,. HCI
58

H,S0,. HNO,

-2

HCL HNO,

H,S0,. H,PO,

Question Number : 149 Question Id : 1874634469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements from the following
i.  The ionic radius of Pr**, Dy’ and Sm’™ follow the order. Sm** > Pr** > Dy>~

ii.  Eu’" acts as strong reducing reagent
i11.  Pu exhibits +7 oxidation state

Bod r8S”° 0GRS DI HGowodw
i. Prt, Dy, Sm* o ecsrdd T GE0 FeTo EBoSw, Sm3* > Pr¥* > Dy3*
ii. Eu*"ood §ohEdn sodtor HATa%os

ii. Pu, +7 s§)88n 98 B80S

Options :
gcollegeduniaa
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; 1. 11 only

. 1. 111 only

3 L 1, 1n

1. 111 only
4.

Question Number : 150 Question Id : 1874634470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the crystal field splitting energy of a tetrahedral complex (A,) of the type [ML4]*" 1s xeV.
what 1s the crystal field splitting energy with respect to an octahedral complex. [MLg]*?

i,

[ML,]™ 683 o8 Bror@d doggo qog), SEE3E = 48 (A) xeV wond [MLg]™
o3 e dS Jo3go AwE), HBE G IFad ¥§ Jog?

Options :

L2
o0

Question Number : 151 Question Id : 1874634471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The monomers of nylon 6. 6 (X) and terylene (Y) are

35 6.6 (X), BOOS (Y) © IS5

Options :

gcollegeduniaa
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X b 4

X Y
O _,COOH
H,N )K/\/\(OH HO
PNNVN\NH,. HO I \A ol @ COOH
X Y
OH HN 0 5
) 0
HZN/\O]/ . \AAA OH “\oH, HOOCOOH
3
X Y
0
H N OH HO\ A
MAAA e X OH. HOOC COOH
4

Question Number : 152 Question Id : 1874634472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

COOH

The general structural formula of -Amino acid 1s H)N
tryptophan (X) and histidine (Y) are respectively

H. The group R in

|
|
R

COOH
lI-JJSbS‘@.‘S%u B, FTe ch”éza‘ééé 3‘«’53&@ H,N i H. @53':_)‘“;;3‘5 (X).
?J“‘cbwc?sﬁ (Y) ©&* R S&0e5mk00 S80&5m R

Options :
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X %

CH,-
@f\>
N
H
L.

X X
CHy- CH,- CH,-
0 T
- <
X x
CH,— CH,—
HN)\> A\
|{"‘N N
. H
X g
CH,—- CH,- CH,-
\ \
X <
i - N

Question Number : 153 Question Id : 1874634473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following statements are correct?

1.  Binding of inhibitor at allosteric site changes the shape of the active site

1.  Shape of the receptor does not change after attachment of chemical messenger to it
1. A chemical messenger gives message to the cell by entering it

v.  Erythromycin 1s an example of bacteriostatic antibiotic

808 FBS* HOGHS B0 ID?

1. Qe’fﬁ&g oo 5 NG P80 20HS8S%0 S0l Bodrde 0 @5 G0 Joedd) H:0d
. SoNS JIraTrd T vdhE) S SHTE o w5tio i

. GPoid Srad o £5800S°8 B0 L5808 JSrTord) wodod

V. Q0EWVS e EHodH 8GR droladrds

Options :

-2
—
—
"
-
-
—

3 1.1V

1. 1v

Question Number : 154 Question Id : 1874634474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): S w1 hydrolysis of optically active 2-bromooctane results in the formation
of (+)-octan-2-ol

Reason (R):  Thereaction proceeds through a planar carbocation which can be attacked
by the nucleophile from either side

INSIN (A): oS ErdE 2@ 3ruESH Syl zoditwo IR (1)-wES-2-46%
G080

s (R): & 38 ol dDde 5ENTLoHS To 2HH&08. Srg8drpé dHde
SOHFLAraD @ doo ol o o°d TohSEs

The correct answer 1s
ROGTR ddrpRo
Options :
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(A) and (R) are correct. (R) 1s the correct explanation of (A)

(A). (R) &0 585059, (A) & (R) $050% Sde

(A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A). (R) &0 38503, 5790 (A) & (R) D008 D58 5760

o ]

(A) 1s correct but (R) 1s not correct

: (A) 0038 52 (R) S050SE 57°¢

(A) 1s not correct but (R) 1s correct

(A) J0G3058 5 570 (R) 985388
4,

Question Number : 155 Question Id : 1874634475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are A. B and C in the following reactions?

: ®
Cumene L s A HO »B+C

Bod wgos* A B. C oo J2?

: @
§rgbo5—03—>A 50 B+

Options :
A B B
OH
|
CH.-C-CH, C.H,—CHO CH,CHO
|
CH
l. ]
A B C
CH,—CH-O-OH CH,-CH-OH H,0
| |
CH, CH,

(=
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CH,
|
CH.-C-0-OH C H.-OH (CH,),CO
|
CH,
3
A B 5
CH, CH,;
| |
CH;—~CH-CH,-O-OH  CH,-CH-CH,0H H,0
4

Question Number : 156 Question Id : 1874634476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s X 1n the following reaction?

Bod SBges* X 28?

CO+2H, —~—CH,0H

Options :

1 623K/300atm

KMnO 4:"H ®

L-2

Z1/A

Zn0O-Cr,O;. 200-300 atm. 573-673 K

Question Number : 157 Question Id : 1874634477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Alkenes (X) and carbonyl compounds (Y) participate in which of the following addition
reactions?

s e (X) S8cin 5&I6 S@oren (Y) $od 2 Jofod Sigos’® TS olron?
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Options :

X ¥
Electrophilic Electrophilic
| DoEos o HOE
X Y
Nucleophilic Electrophilic
\ Sorg 8RB0 O8 NEANDE
X ¥
Electrophilic Nucleophilic
| J0g0e8 Srg8RrHO8
X x
Nucleophilic Nucleophilic
. g ST o8 Sorg ERrpOf

Question Number : 158 Question Id : 1874634478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following is used for purification of aldehydes?
80d TES' srhodH DRISITIS THIb 6?7

Options :

, NaO(Cl

, NaHSO,

. CaHS0Cl

, NaySO,

Question Number : 159 Question Id : 1874634479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Mixed aldol products obtained from aldol condensation of ethanal and propanone are
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Question Number : 160 Question Id : 1874634480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are X and Y in the following reactions?

Bod S¥gos® X, Yeo a7

X

[~
ArN,Cl — —> ArH

Options :
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X
CH,CH,0H

X
CH,MgX

X

CH,CHO
3.

X

CH,=CH,

.
H,PO,.H,0

Y
H3P03

X%

H,O

—

s 4

NaNO,/HCl
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